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a—Fk DHEH | DHEH AR A T = DBRB=E| K &&t CH
1 |dtiE 1.0E+4| 9.6E+1 10,459.2 7.6E+2 756.0 11,215.2
2 |EHE 4.5E+0 45 45
3 |BEFE 4.9E+1 48.7 48.7
4 |EHE 2.9E+1 28.8 9.0E+3 9,000.0 9,028.8
5 |#EE 1.2E+1 12.4 12.4
6 [ILFER 6.2E+3| 8.0E-1 6,200.8 5.2E+3 5,200.0 11,400.8
7 |fRBE 5.6E+3| 7.1E+1 5,671.0 1.5E+3 1,480.0 7,151.0
8 |ZWE 2.0E+0| 4.5E+1 46.6 46.6
9 [WHARE 1.1E+4| 1.4E+0 11,023.8 5.2E+4 52,069.0 63,092.8
10 [HER 39E+3| 9.0E+0 3,859.0 3.2E+2 320.0 4,179.0
REEET! 20E+4| 3.3E+1 20,510.2 2.8E+4 27,790.0 48,300.2
12 |TER 1.3E+4| 5.9E+0 13,1915 8.7E+4 86,680.7 99,872.2
13 |EREER 1.5E+4| 9.8E+1 14,806.7 3.1E+4 31,470.0 46,276.7
14 |[#E)E 52E+4| 9.7E+0 52,303.7 3.3E+4 32,5708 84,8745
15 |FriRE 9.1E+3| 1.6E+1 9,1155 3.9E+3 3,900.0 13,0155
16 |[EWE 7.2E+3| 9.0E-1 7,200.9 6.9E+3 6,900.0 14,100.9
17 |RINE 1.3E+3[ 1.4E+2 1,436.8 7.8E+3 7,800.0 9,236.8
18 |f&@HE 8.3E+3| 6.0E+0 8,316.0 3.2E+3 3,200.0 11,516.0
19 |ILBE 4.7E+1 47.0 47.0
20 |REFHER 5.0E+3| 4.0E+0 4,964.0 1.6E+3 1,600.0 6,564.0
21 |IKEBR 4.7E+3| 5.8E+1 47579 1.0E-1| 1.3E+3 1,257.1 6,015.0
22 |E&mER 8.3E+3| 2.3E+ 8,352.6 3.7E+2 370.0 8,722.6
23 |BHE 3.1E+4| 21E+ 30,803.2 1.0E-1| 19E+4 18,760.1 49,563.3
24 |=ZER 1.8E+0 1.8 1.8
25 |#HER 24E+3| 1.4E+0 2,401.4 2,401.4
26 |REAT 42E+4| 1.7E+2 42,2261 1.1E+0| 6.3E+3 6,301.1 48,527.2
27 | KRFF 1.4E+5| 2.0E-1 135,492.1 1.0E-1| 7.2E+4 72,4011 207,893.2
28 |EER 45E+4| 6.1E+ 454311 3.5E+4 35,1243 80,555.4
29 |RERE 2.8E+4| 1.6E+0 27,901.6 3.3E+3 3,300.0 31,201.6
30 |FNFLE 8.3E+3| 1.7E+ 8,337.1 2.2E+2 220.0 8,557.1
31 |BHRE 2.2E+0 2.2 2.2
32 |BRE 7.1E+0 7.1 7.1
33 |EWLE 1.6E+3| 6.4E+0 1,641.4 1,641.4
34 |[LER 35E+4| 1.9E+0 35411.9 3.9E+2 390.0 35,801.9
35 |lLAOg 2.4E+3| 3.0E-1 2,400.3 47E+1 47.0 24473
36 |fESR 6.7E+0 6.7 6.7
37 |BNE 1.2E+4 5.0E-1 11,8005 11,8005
38 |BER 1.6E+1 16.4 16.4
39 |E&E 2.4E+1 241 24.1
40 |fERR 2.2E+4| 6.4E+0 21,746.4 9.2E+3 9,200.0 30,946.4
41 |*EER 1.4E+1 13.7 13.7
2 |RIBER 1.8E+0 1.8 18
43 |[BERE 40E+3| 3.2E+1 4,031.9 4,031.9
4 | KRR 1.3E+4| 2.4E+1 13,223.6 6.6E+2 660.0 13,883.6
45 |BIBR 5.9E+1 59.1 59.1
46 |EEER 1.4E+2 5.7E+0 145.7 1.9E+3 1,900.0 2,045.7
47 | HEER 9.7E+0 9.7 9.7
£ H 56E+5| 1.2E+3 565,447.5 1.4E+0| 4.2E+5 420,714.2 986,161.7
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